E:lT SN 7 (3 T

132

== o

=

Through-type Terminal Block

—
I

10

5.5

oy

12
30

-

A '

B ] E'—=5= FjIFD q; T _

1: y | 1 h | | 1 g N
:“’ ! E %

sl -
@ | [ | |3 [T
ctggLA
o i [ A | ——[1E P.

® Ordering Form : Type No.

o fEI A L A BV 7 132.4AN-m T,
® Connection screw : Tightening torque is 2.4 N-m.
O HN—FUREFEGWIEA T a v &i ) TTOTHEELOBMIEE T S v,
® The cover and the marking strip are optionally available.
® 71N —F 2Rl T S AR A ORI ESTT RIS -CTE I PKT SHIFEA T &
® To obtain a cover or a marking strip, and “- CT "or“PKT” at the end of the ordering form.

® Iy N — L URL s e o B I A E ORI T ER BT -PKCT LR AT S v I N— RURLSFH-5 IS EEN L TIMAZL £5

® To obtain a cover and a marking strip, and “PKCT” at the end of the ordering form. The cover and the marking strip will be delivered separately.

ozt 7y

® Other options *Jumper (F2117)

No. of Poles (P)

¥ 33— MY—2Z (F2117)

BN
Terminal Block

BRI o0\ UMD

E v ¥, Pitch 16mm

kil
T;Ee Num%er F2059E'PKCT
E 1%
Hating AC660V  70A
HEFR A HL 500V 1000MQ I E
Insulation Resistance | DC500V  1000MQ and over
i & £ 3000V 1 4FENE
Withstands Voltage |AC3000V 1 minute and over
BB
CompatitE)IEé Wire 14.0mm’

— /N7 General Tolerance +0.5

’ R, Scale 5

BT,/ Unit mm ‘

N

HHY

13

20.6

22
16

15

1

45 69

12| 14

s>

18
24

A-A lHrifi[X]

1

W {4t Specifications.

&, Part No. % #/Part Name &, Material #% / Standard ~ti&//Size 4012 Treatment fis %, Remark
1 M (A) Base (A) PBT UL B {5 Black
2 AR (B) Base (B) PBT UL B2 {1 Black
3 HAR(C) Base (C) PBT UL B f8  Black
4 AR Terminal #O§l Brass C2680P MOE € 2.0 | 207V AvF Nickel-Plaed
5 FERE A Screw #  steel SWCH/SPCC | M5X0.8X12 ¢ | =y As¥ Nickel-Plated | 71 =% Y Y EA  Typell)
6 AfF v b Hexagon nut #  steel SWCH M5X0.8 Zfmi=} Trivlent Chromat Treament
7 HHEARV T Connecting bolt #  steel SWCH M3X0.5X ¢ ZHA-b Trvalent Chromte Treatment F X
8 #ikEF v b Connecting nut %  steel SWCH M3X0.5 SRR Trvaleot Chromat Treatment
9 FLFHEEMR Marking strip | RUA—HR A= Polycarbonate UL wOE 1.0 H f White
10 T IN— Cover ARH—=R%—bF  Polycarbonate UL W OE t1.5 #% Wl  Transparence
11 AN=IEER  Cover Retaing screw # 4§ Brass C2700W M3X0.5X8 ¢ | Zu¥bAv% Nickel-Plated | PW L AFN Typel6)
12 A+ v M Hexagon nut %  steel SWCH M3X0.5 SRR Trvaleot Chromat Treatment

1B, Poles 2P| 3 4 5 0 7 8 9 | 10 | 11 | 12

A 63 | 79 | 95 | 111 | 127 | 143 | 159 | 175 | 191 | 207 | 223
B 50 | 66 | 82 98 | 114 | 130 | 146 | 162 | 178 | 194 | 210
o] 35 | 51 | 67 83 | 99 | 115 | 131 | 147 | 163 | 179 | 195




